wm m oas B B 8

AFn64E6 H




HmERRER Bl —oR (AFRA) ’R
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2 FHE B | BE| BB L | &S| WA wme |BN| BE = | REREISI wE

MyooL-y[EREY " 7" B B LEEH4.o0tB =] - * * - * * - * * *
MyooV-y[REREY " 7 B - ~KER] B_LEEH100tH E] - * * - * * - * * *
MyooV-y[EfREY " 7 B - ~KER] BLEEH120tH E] - * * - * * - * * *
NyooV-y[EREY " 7 B - ~KER] B LEEH160tH E] - * * - * * - * * *
MyooV-y[EREY " 7 B - ~KER] B _LEEH200tH E] - * * - * * - * * *
MyhoL-y [ EREY " 7" B B _LEEN360tH =] - * * - * * - * * *
II7U=-Y0b -y HEAREY 7 B - ~EKER - HEG B (~2)R)] B LEEN4.o0tB E] - * * - * * - * * *
7=V~ EEAREY 7 B - ~EKER - HEE(~1R)] RLREN7LR H - - - - - - N N N 0
7=V Y HEAREY" 7 B« ~EKER - HEEL(~2)R)] B LEEN16tH E] - * * - * * - * * *
7=V~ HEAREY 7 B - ~EKER - HEGEL(~2)R)] B _LEEH20tB E] - * * - * * - * * *
FI7U=-9V -y [EEARIEY 7" BY - ~KER - HEXTEL(~2014)] B _LEEN25tB E] - * * - * * - * * *
II7U=-Y0b -y HEAREY 7 B - ~EKER - HEG B (~2)R)] B _LEEN35tB E] - * * - * * - * * *
7=V -y [HEAREY 7 B - ~EKER - HEG B (~2)R)] B _LEEH50tB E] - * * - * * - * * *
FI7U=-Y0b -y EEAREY 7 B - ~EKER - HEE(~1R)] B LN 10tB E] - * * - * * - * * *
FI7U=-Y0b -y HEAREY 7 B - ~EKER - HEE(~1R)] B _LEEN45tB E] - * * - * * - * * *
II7V=-Y0b YRR 7 B« ~EKER - HE B (~2)R)] B _LEEN60tR E] - * * - * * - * * *
FI7U=-Y0b -y HEAREY 7 B« ~EKER - HEGE(~2)R)] B _LEEN70tB H - *x(®) x(®) - x(®) *(®) - *(®) *(®) *
0-39-Y[REBREITNTAVF - 5FAY 7" - ~AKER - HE(~2R)] B _LEEN50tB E] - * * - * * - * * *
0-39V-Y[REEREITN I VF - 5FAY" 7" - ~KER - HE(~2011)]  [B_LEEFI100tH E] - * * - * * - * * *
0-39-Y[REBREITNTAVF - TFAY T - ~AKER - HE(~2R)] B _LEES55tB E] - * * - * * - * * *
0-39-Y[REBREITNTAVF - TFAY T - ~ARER - HE(~23R)] B _LEEN65tB E] - * * - * * - * * *
0-39-Y[REBREITNTAVF - TFRY 7" - ~ARER - HE(~23R)] B _LEEH200tH E] - * * - * * - * * *
0-39-Y[REBREITNTAVF - 5FRY T - ~ARER - HE(~2R)] F_EBENBOtR E] - * * - * * - * * *
0-39-Y[REBREITNTAVF - 5FAY 7" - ~ARER - HE(~23R)] B _LEEH150tH E] - * * - * * - * * *
H0-I9b-Y[EARES " 7 B - ~EER - BE (~30R)] m_LEES4.9tH H - * * - * * - * * *
FENFEEHE[ D BFE) - ~KER - BRI BY (~2)K)] ErEESE8kva H - * * - * * - * * *
FENFEEHE[ D BFE) - ~KER - HEBY (~2)K)] EfEEE10kva H - * * - * * - * * *
FENFEEHE[ D VBN - ~BIK - BB (~3K)] EfEEE15kva H - * * - * * - * * *
FENFEEHE[ D VBN - ~BIK - BB (~3K)] TEFEEE20kva H - * * - * * - * * *
FENFEEHE[ DBFEY - ~BIK - BB (~3K)] EFEEE25kva H - * * - * * - * * *
FENFEEHE[ D VBN - ~BIK - BB (~10R)] EFEEE35kva H - * * - * * - * * *
FENFEEHE[ D VBN - ~BIK - BB (~3K)] EFEEE45kva H - * * - * * - * * *
FENFEEHE[ D VBN - ~BIK - BB (~3K)] EFEEE60kva H - * * - * * - * * *
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B g El (GBS WA ®5
FEENFEBHL] DENEY - ~HBIEK - HE B (~3IR)] EIREE75kva -
FEENFEBHL] DENEY - ~HBIEK - HE B (~3IR)] EIREE100kva -
FEENFEBHL] DENEY - ~HBIEK - HE B (~3IR)] EIREE125kva -
FEENFEBHL] DENEY - ~HBIEK - HE B (~3IR)] EIREE150kva -
FEENFEBHL] DENEY - ~KER - HE B (~2iR)] EIREE200kva -
FEENFEBHL] DENED - ~KER - HE B (~2IR)] EIREE250kva -
FEENFEBHL] DENEY - ~KER - HE B (~3IR)] EIREE300kva -
FEENFEBHL] DENEY - ~KER - B (~2IR)] EIREE350kva -
FEENFEBHL] DENED - ~KER - HE B (~3IR)] EIREE400kva -
FENFEB[ GRNE) REER) EREE2kva -
FENFEE[ GENE) REER) EIREE3kva -
FENFEBHL[ DENE) - ~BEREEE] EIREE5kva -

ZERUERER[FIARTC - 105" VBRED - ~BIK - B (~21R)]

It#&E2.0m3/min 0.7MPa

ZERUERER[FIARTC - 105" VBRED - ~BIK - B (~2)R)]

It&E2.5m3/min 0.7MPa

ZERUERER[FIARTC - 105" VBRED - ~BIK - B (~31R)]

It&E3.5~3.7m3/min 0.7MPa

ZERUERER[FIARTC - 105" VBRED - ~BIK - B (~21R)]

It#&E5.0m3/min 0.7MPa

ZERUERER[FIARTC - 105" VBRED - ~BIK - B (~21R)]

Iti&E7.5~7.8m3/min 0.7MPa

ZERUERER[FIARTC - 105" VBRED - ~BIK - B (~21R)]

ItH+&10.5~11.0m3/min 0.7MPa

ZERUERER[FIARTC - 105" VBRED - ~EKER - B (~2)R)]

ItiiE14.2m3/min 0.7MPa

ZERUERER[FIARTC - 105" VBRED - ~EKER - B (~21R)]

Iti&E17.0m3/min 0.7MPa

ZERUERER[FIARTC - 105" VBRED - ~RER - B (~2)R)]

It#£18.0~19.0m3/min 0.7MPa

ZERUERER[FIARTS - 105" VBRED - ~EER - HEXIBY(~30R)]

ItHE15m3/min 1.05MPa

ZEUE AL ATk - £-5-BRED]

Iti&E2.2m3/min

ZEUE B ATk - £-5-BRED]

It&E3.7m3/min

ZEUE B ATk - £-5-BRED]

Iti&E5.2m3/min

ZEUE B ATk - £-5-BRED]

It &E6.0m3/min

ZEUE AL ATk - £-5-BRED]

It #£9.0m3/min

IREID-5 (8RN - 507 hBY - ~KER - HEEY(~2)R)]

BE2.4~2.8t

IREID-5 (8RN - 507 hBY - ~RER - HEERY(~2)R)]

BE83.0~5.0t

IREND-5 (AR - UM B ~ B 1R - HER B (~31R)]

BHE3.0~4.0t

REID-5[OR 1AM ]

B20.5~0.6 t

REID-5[OR 1AM ]

BE0.8~1.1t

REID-SLON B AN R - ~RER]

B20.6~0.7t

Kl x| ¥ ¥ ¥ ¥ k] K| k| x| x| ¥ K] K] K| K| ]| X ¥ K| K] K| K| k| X[ ¥ ¥ ¥] ]| K| k| x| *]| *]| *
K| *| x| ¥ ¥ k] k] K| k| x| x| x| k] k] K| k| ]| x| X x| k] K| K| k| x| x| x| ¥] k]| k| *| x| x| *]| *
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Kl *| ¥ ¥ ¥ ¥ ¥ K| k| x| ¥ ¥ k] K] K| K| k]| x| ¥ K| K] K| K| k| X[ ¥ ¥ K] ]| K| k| *| *]| *]| *
Kl x| ¥ ¥ ¥ ¥ K] K| k| x| x| ¥ k] K] K| k| k]| X ¥ K| K] K| K| k| X[ ¥ ¥ k] ]| K| k| x| *]| *]| *
K| *| x| ¥ ¥ k] k] K| k| x| x| x| k] k] K| k| x| x| ¥ x| k] K| K| k| x| x| x| k] k]| k| | x| x| x| *
Kl x| ¥ ¥ ¥ ¥ k] K| k| x| X ¥ k] K] K| k| k]| X ¥ K| K] K| K| k| X[ ¥ ¥ K] ]| K| k| x| *]| *]| *
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IREND-5(ETA)[I7Yh 590" W Fh- ~EER - HE(~2014)] BE11~12t -
A VO—S[~iBE- 8- (~2011)] BE8~20t - - -
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B FHE B | BE| BiR L | &S| WA wme |BN| BE = | REREISI wE
A O—S[~iBIK- B8 - (~3R)] BE3~4t H - * * - * * - * * *
O—RO-35[YH5F L ~BIE - HEB(~2K)] B210~12t #HEDIE2.1m [=] - * * - * * - * * *
FAIPWII4Zy v [iA-V B - ~EBR - BEXT B (~2014)] fHESIE1.4~3.0m H - * * - * * - * * *
FAIPNII A2y S [N B - ~BIRER - HEXT B (~2014)] fHESE2.3~6.0m H - * * - * * - * * *
-5 [ TR - BB B (~2R)] 7' V-MIE3.1m [=] - * * - * * - * * *
TERAKPRT (BART) 0% 50mm 2% E 10m [=] - * * - * * - * * *
TERAKPART (BART) 0% 50mm £HE 15m [=] - * * - * * - * * *
TERAKPART (BART) O%100mm =£i5#E 10m [=] - * * - * * - * * *
TERAKPART (BART) O%100mm £i5#E 15m [=] - * * - * * - * * *
TERAKPRT (BART) O%150mm £i5%E 10m [=] - * * - * * - * * *
TERAKPART (BART) O%150mm £i5#E 15m [=] - * * - * * - * * *
TERAKPART (BART) O%200mm £i5#E 10m [=] - * * - * * - * * *
TERAKPART (BART) O%200mm =35 15m [=] - * * - * * - * * *
ARESERE[/0-58 - HU-VEEAT] BEHEE 1.7t 1tH =] - * * - * * - * * *
ARESEE[/0-58 - HU-VEEAT] BEHEE 2.0t 1tH =] - * * - * * - * * *
ARESEWE[0-58 - HU-VEEAT] EHEE 2.5t 2tF =] - * * - * * - * * *
AREEEE[/0-58 RES V)° T - HEBY (~2)R)] BEHEE 2.0t H - * * - * * - * * *
AREIEE[/0-58 SRES V)° T - HEBY (~2)R)] BEHEE 2.5t H - * * - * * - * * *
DS54 - 180mm H - 1,000 1,000 - 1,000 1,000 - 1,000 1,000 0.65
INATHhy5 - H - 1,620 1,620 - 1,620 1,620 - 1,620 1,620 0.65
1w bhe—% 126MJ1/h H - * * - * * - * * *
UJ hBE ATk 6t 1A H -| 166,000( 166,000 -| 166,000| 166,000 -| 166,000( 166,000 1
UJ hBE IO 15t 1A B -| 185,000( 185,000 -| 185,000| 185,000 -| 185,000( 185,000 1
UJ hBE N>R 15t 2 Bt B -| 185,000( 185,000 -| 185,000| 185,000 -| 185,000( 185,000 1
UJ hBE IO 25t 2 Bt B -| 218,000( 218,000 -| 218,000| 218,000 -| 218,000( 218,000 1
BRUBHERE 7MY T] EAZETR 300A [=] - * * - * * - * * *
HT NSy o[AO-R - Fo—tIL] 4 t &R =] - * * - * * - * * *
EPTESEE (MY IZRERYT- 7" - LEY) TBILT y$917° VEEER= 10~ 12mBUF =] - * * - * * - * * *
EikBitERss (FRPMEHR) 900mm H - 7,000 7,000 - 7,000 7,000 - 7,000 7,000 1
EikBitERss (FRPMEHR) 1000mm H - 7,900 7,900 - 7,900 7,900 - 7,900 7,900 1
EikBitERss (FRPMEHR) 1100mm H - 8,500 8,500 - 8,500 8,500 - 8,500 8,500 1
EikBitERss (FRPMEHR) 1200mm H - 9,100 9,100 - 9,100 9,100 - 9,100 9,100 1
EikBitERss (FRPMEHR) 1350mm H - 9,800 9,800 - 9,800 9,800 - 9,800 9,800 1
EikBitERss (FRPMEHR) 1500mm H -l 10,500 10,500 -[ 10,500 10,500 -l 10,500 10,500 1
EikBitERss (FRPMER) 1650mm H -| 15,000 15,000 - 15,000f 15,000 -| 15,000 15,000 1
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B g B | BE| B El (GBS WA wms | &N BE = | REAEISI &

EfMERRERESE (FRPMER) 1800mm =] -| 16,000| 16,000 -| 16,000 16,000 -| 16,000| 16,000 1
EMERERESE (FRPMER) 2000mm =] -| 17,200| 17,200 -l 17,200 17,200 -| 17,200 17,200 1
EMERERESE (FRPMER) 2200mm =] -| 19,000| 19,000 -| 19,000 19,000 -| 19,000| 19,000 1
EMERERESE (FRPMER) 2400mm =] -| 21,000| 21,000 -] 21,000 21,000 -| 21,000| 21,000 1
EMERRERESE (FRPMER) 2600mm =] -| 22,500| 22,500 -l 22,500 22,500 -| 22,500| 22,500 1
EfMERRERESE (FRPMER) 2800mm =] -| 24,500| 24,500 -| 24,500 24,500 -| 24,500| 24,500 1
EMERERESE (FRPMER) 3000mm =] -| 26,000| 26,000 -| 26,000 26,000 -| 26,000| 26,000 1
EfMERERE (DC 1 PER) 900mm =] - 8,000 8,000 - 8,000 8,000 - 8,000 8,000 1
EfMERRERESE (DC 1 PER) 1000mm =] - 8,000 8,000 - 8,000 8,000 - 8,000 8,000 1
EfMERERE (DC 1 PER) 1100mm =] - 8,000 8,000 - 8,000 8,000 - 8,000 8,000 1
EfMERHRERESE (DC 1 PER) 1200mm =] - 8,000 8,000 - 8,000 8,000 - 8,000 8,000 1
EfMERERE (DC 1 PER) 1350mm =] - 8,000 8,000 - 8,000 8,000 - 8,000 8,000 1
EfMERERESE (DC 1 PER) 1500mm =] - 9,500 9,500 - 9,500 9,500 - 9,500 9,500 1
EfERHRERESE (DC 1 PER) 1600mm =] - 9,500 9,500 - 9,500 9,500 - 9,500 9,500 1
EfMERERE (DC 1 PER) 1650mm =] - 9,500 9,500 - 9,500 9,500 - 9,500 9,500 1
EfMERERE (DC 1 PER) 1800mm =] - 9,500 9,500 - 9,500 9,500 - 9,500 9,500 1
EfMERRERESE (DC 1 PER) 2000mm =] - 9,500 9,500 - 9,500 9,500 - 9,500 9,500 1
EfMERERE (DC 1 PER) 2100mm =] -| 11,000| 11,000 -l 11,000 11,000 -| 11,000 11,000 1
EfMERERE (DC 1 PER) 2200mm =] -| 11,000 11,000 -l 11,000 11,000 -| 11,000 11,000 1
EfMERERE (DC 1 PER) 2400mm =] -| 11,000| 11,000 -l 11,000 11,000 -| 11,000| 11,000 1
EfMERERESE (DC 1 PER) 2600mm =] -| 11,000 11,000 -l 11,000 11,000 -| 11,000 11,000 1
N yIRo[0-58E - ~EBIK - BE B (~3iR) ] RAEN Y M2 11F50.28m3 (F480.2m3) =] - * * - * * - * * *
N yIRo[0-58E - ~ 3K - BEX B (~3iR) ] RAEN Y M E 11F50.45m3 (F4E0.35m3) =] - * * - * * - * * *
N yIRo[0-58L - ~ B - HE B (~2011)] RAEN Y MSE 1UFE0.5m3 (FF480.4m3) =] - * * - * * - * * *
N yIRo[0-58L - ~ B - HEEL(~2014)] RAEN Y MSE 1UFE0.8m3 (FF480.6m3) =] - * * - * * - * * *
Ny o9[90-58 - T8/ \fRm A, - ~EBME - HF(~2014)] RN fy S E 1UFE0.28m3 ((F#E0.2m3) =| - * * - * * - * * *
Ny o9[90-5 - 758/ \fieldl - ~EBIE - HEXF BY(~ 3IR) ] REN ry S E IUFE0.45m3 (F#50.35m3) =| - * * - * * - * * *
ICT Y iRo[90-58L - Hb-y - ~iBIK - HE B (~2014)] REEN" Y MSE 1UFE0.8m3 (F480.6m3) MmHEES2.9t =] - * * - * * - * * *
NBU D9 [90-5 8L - 4B VB R - ~ECEE - HE AL (~30R)] RAEN Y M E 11F50.22m3 (F4E0.16m3) =] - * * - * * - * * *
/NBUBH[Y0-7 - 4873#8/IVEE(E] - Jb-Y - ~EBIE - HF(~3IR)] RAEN Y M E 1UFE0.09m3 (F4E0.07m3) mAES0.9t =] - * * - * * - * * *
N yIRo[90-5 - #B/INEE(E] - Jb-2 - ~KER - HE(~2014)] RAEN Y MSE 11F50.28m3 (F480.2m3) MEENIL.7t =] - * * - * * - * * *
N yIRo[0-58L - Hh-2 - ~EER - HEX B (~31R)] RAEN Y M E 11FE0.28m3 (F480.2m3) MEESNIL.7t =] - * * - * * - * * *
N yoRo[0-582 - Hb-2 - ~BIK - HERT B (~2011)] REEN Y MSE 11FE0.45m3 (F450.35m3) mAES2.9t =] - * * - * * - * * *
N yoRo[I0-582 - Hb-y - ~BIK - HERT B (~2014)] REEN Y MSE 1UFE0.5m3 (F180.4m3) mEESI2.9t =] - * * - * * - * * *
N yoRo[0-582 - Hb-y - ~BIK - HERI L (~2014)] RAEN Y MSE 1UFE0.8m3 (F480.6m3) MmAESI2.9t =] - * * - * * - * * *
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B2 A B | BE| BiR L | &S| WA ms |BI| B = | REBEISI wZ
N yhir9[I0-78L - #7588/ IHEE] - b-0 - ~EBIK - BE(~2014)] [N hy M2 1UF50.45m3 (F4E0.35m3) MAESH2.9t =] - * * - * * - * * *
INBUN D9 [0-7BE - ~EBAR - HEXT B (~ 31R) ] =)y P E 1UFE0.11m3 (F£4E0.08m3) 5] - * * - * * - * * *
NI [90-58L - ~ B - HE B (~31R)] RN ry S E 1UFE0.055m3 ((F#%0.04m3) B -l x (@) x(e) -l k(@) x(e) -l o x(e)]  x(e) *
SBEIFAYIMFVAIL® vIT - ~KER - B B~ 20R) ] o0—SE¥E0.4m3 =] - * * - * * - * * *
T-M0-5" (F59553n° 1)) [~ARER - BEEL(~2iR)] =) M LUESE1.3~1.4m3 =] - * * - * * - * * *
SHETL—H Ny REE0.4M3%RE  PHFAUMDH 5] - * * - * * - * * *
TUIN -4 R - ~MRERE B - HEd B (~3IR)] 7tk 7~9t H - * * - * * - * * *
TILR—H[EH - HEB(30R)] 16tH% 15~18t [=] - * * - * * - * * *
TILR—H[EH - HEB(2)7)] 20t#%k 19~21t [=] - *(®) *(®) - *(®) *x(®) - *x(®) x(®) *
ICTIIL R—H[Eih - HExdt (201 16E47H)] 7tk 7~9t H - * * - * * - * * *
ICTIIL R—H[Eih - HExdtB(201 1EE4RH)] 16t#k 15~18 t H - * * - * * - * * *
ICTEE AR IR BB RINEZA (I v oihY) Ny ot E] - - - - - R N N N 1
ICTES MR EERNNEER(T-97"1-5) =595 B -| 49,000] 49,000 -| 49,000| 49,000 -| 49,000] 49,000 1
ICTES MR EERINNEERA(N v i) (ICTXIGEL)) I yhi (ICTHE X SEL ) B -| 13,000] 13,000 -| 13,000| 13,000 -| 13,000] 13,000 1
ICTESHMR ESRINNEEE( I -4 (ICTXIGEL)) 7N -4 (ICTHE X AGEY) B -| 13,000] 13,000 -| 13,000| 13,000 -| 13,000] 13,000 1
T Sl - - - - - - - - - 0
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